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Four Rules

e 36 x 27

291 + 3

*23.4+37.83




Rounding (10,100,1000 etc.)

 Round 35487 to the nearest 10, 100, 1000 etc.

3/e9p 25500 35aQ U

* Round 24@83.72 to the nearest 10, 100, 1000 etc.

24960 Y5000 15doa



Basic Powers

¢ 52 Cre = D\S



BIDMAS (order of operations)

’a)3+22—1=9\Lf f)10+22—2= -g_f

+b)(5+2)2x2= 9 ¥ g)28—-4+2= AL
*c)12-5x2= 2 h)3x12+4= Y
d)7-(2+32= — ( B ) (6+5)x3= 43

ce)d+4x5= rl’“k i) (10=2) x 5 = LTC



Directed Numbers (positive and negative)

=i -5 S - = i = g 1 2 2 =1 = 5 v
Whatis 3-47? i
— | Signs together
Whatis -3-47? __ '7 = = l ’%
A+ - X { -
Whatis 3-(—-4)? 7 '[_‘ Y

s bl g

Ly |
Whatis —-3-(-—4)



Factors and Multiples

* Factors of 8 ) F,D\JLI-/Q

* Factors of 12 2,4, 4,6, 1)
MCF = L

* Multiples Of 4 Q,%)[g\) K

* Multiples of 6 &, 14,19 Ak

L= (]



Fractions
XN




Ratio

* Simplify 10 apples : 15 oranges < | &
[] - r —
La - le 5 15

If Squash is 3 parts juice to 10 parts water 3:10
* How much water would you add to 12cl of juice?

3t 1D el Oparts = |pyg = [ ©ch
[p = L o]

* How much juice is in 78cl of squash? 3 + a0 = (3 P
ENIRVAY

P 5p = 3= e



Percentages

e What is 20% as a fraction and as a decimal

3,0 = . i &y, = Y
Teob . ip % RIAZ
 What is 20% of £280°7
D7 = ERP 28 x 280 - Bb -
o EY: | :
A0 7 = ER6
e Reduce £60 by 30%
g/ = &G

SRR o k-t ¥ = ELD



Averages and Range

* Find the mean, median, mode and range of 5, 7, 2, 7 and 3

WMea n — ?jﬂ;l: Tt ?i,:J_h%
[ “5

fhéﬁ,a = 7
Median = 2,3J®/ ] = s

@&nf I 7-—2“:5‘



Angles

straight angle

<. \ .> W

acute angle
< 90°

il

right angle
=90°

*—>



Graphs

incident Count
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Length
Central unit is the Metre(m)

Metric

1 m=100cm Capacity
1 m = 1000 mm Central unit is the Litre(l)
1 km = 1000 m 1:1885' |
. . = m
* What is 384cm in metres? Lkl = 1000 |
gy M
Weight
Central unit is the Gram(g)
* What is 3.2 kg in grams? 1g=100cg

1g=1000 mg

Saoo Ej 1kg=1000g

e What is 376mm + 182cm + 2.3m?

37 ¢+ 030+ 230 = 449 1 bewm



Symmetry
= Y



Speed and Time

* Whatis the Time between 2.48pm and 5.18pm %f &;‘ﬁ \ | kot
;/»lge -/?'\> 58\7} :
[PY "J"DJ;) + /Qw\ - 2{\5{]”\1&

 How fast am | goi 5 on average if | travel 28km in 4 hours?
Wl /5 h e </

* How fardo | goin 3hrs 15mins at 40km/h

HOK?)%;,L = |30 Km

* How long does it take to do 38km at 8km/h

BQ:(’EI—— hoo™ h HB pin
~ FF’H'L\P th A5 mins




Substitution

*Ifx =5,y=3and z=-2 then what are the values of

¢« 2x—y 'a_xs —3 ':7

v 75
-2z—3x-.L+~|5|= —\i
sz |§=AX(-R) = | §



Simplitying 1 Adding and Subtracting
(Collecting like terms)

* 5x +3x 8 x



Simplifying 2 Multiplying

" JwaxN yry = by

* 5x3y X 3xy?

st“tja
" Lo XL o XL (= AN\

* (4a
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